1-098 60 17 9

[ e

(150%)

2000
2000
= 1000

= -1000
-2000

-3000 =
-04  -02 0 0.2 0.4 i
i im)

-2 -3

105-8584 30 5 TELO03-3578-7921

-193-



1-098

€y

€

7,900

7,900

D

11,700

60

167m

250%
150%

vol.37 No.10 2003-10.

17 9

700

16m 600 | 2900

(%)

]
o]

0 5000 10000 15000
-4
mm)
—
1000 —&— RB+7,900kN
em——ir==RB+11,700kN
800
600
400
200
0
A2 P2 P1 Al
-5
(kN)
10,000
——
8000 | —=8— RB+7,900kN
' =#—PRB+11,700kN
6,000 \ /
4,000 [
2,000 N—
0
A2 P2 P1 A
-6
1.00
080
[ |
060 m
o
040 o
O
020
0.00

-194-



